	
	
	
	
	
	
	
	
	
	
	

	Overbooking is a common practice for airlines.  
	
	
	
	
	
	

	Assume the planes used hold 40 passengers and the airline makes $110 per passenger.
	
	

	When the airline takes 40 reservations an average of 3 passenges do not show up.
	
	
	

	Use simulation of 100 flights to evaluate whether accepting 43 reservations would be a workable strategy.  
	

	Any bumped passengers will cost the airline $160 per passenger for loss of goodwill, rebooking, hotel room, etc.

	According to your simulation how does this strategy affect the profit per flight?
	
	
	

	How do we determine the optimum strategy?
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	

	No-Shows
	Probability
	
	
	
	
	
	
	
	
	

	6
	0.06
	
	
	
	
	
	
	
	
	

	5
	0.15
	
	
	
	
	
	
	
	
	

	4
	0.21
	
	
	
	
	
	
	
	
	

	3
	0.31
	
	
	
	
	
	
	
	
	

	2
	0.14
	
	
	
	
	
	
	
	
	

	1
	0.08
	
	
	
	
	
	
	
	
	

	0
	0.04
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	


